QUESTION 1: (Start & nesr page!
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(i} Draw a net sketeh of the curw: 1-’-?31“"[ '
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(+) Finc.allva'ues of ¢ {in adians) of ~3sin@=cosé

GUESTION 2: (Start & new page)
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(o f v=10", fnd i}r when x = |
x

|
1) Evatuate m eans of = J - 'ilx :
LN
{11 Fromi eight leachers and six pupals a committze of siven (s b be farmad How many
comn ittecs can be selected il both teachers and pupls are epresented ard the

ierchers are i the major t?
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Sl Civen that v = sin 'i:x! v Bnd ==
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(ETESTION 3: (Stazt a oew page)

(10 A manufacturer poduces cotnpuler companents of ‘which 35% an: faand o be
satisiactory. From a sample of 10 components:

(c} Kim the probahility thal at most | fails 10 meet the specifization.
i) At least 2 wre unsatisfactory.

Crive YOUs inswer: (o past (i) ard {it) correet o 2 dotimal rlaces.

{b) A vossel is being fitled at a8 var able rate % =k{A - ¥) where i und A sre contiants.

(L Show that WV = f-'lJ; Lk ] ia 2 sotulion of the differsutial equation abowv:.

[y Fimd the capacity of the vessal.

(] Fimwd the vilue of k Ef; of the vcaset s filled in 6 nrinutes

ffv)  Fiml the fraction of the wesse! 1iilad ir the next § m nutes,

QUESTION 4: {Start u mev: pape)

{a] The velocity {‘u’ms"_} of g bidy movir g in a sraight line is given by WV -¢' - 2"
whie = | is the time in seconds. if ity inctial posdlion 1 at the ongin
(i} Eiml the equation relakirg x (the disphscement from O} and t
(L] Fiiud the inittal scceleration.
{11} Shirw that the body does nod heve a maximan velovity.
{ivl  Fimef the time taken te reach a point 3m to the right-2F the onigin -Jive your
answer codtect to 1 dechnyl place

(hy The cegion enclos:d by the cune ¥ —lanx | the x asis and the ordimate x =% i

ratgted about the »-#xis. | 'sing Jimpson's Ru'e with 5 funckon values, find an

approaximate value fto ] doc. pf ) for the valume of the sali 4 form.sd
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DUES THIN 5 {Stat & mew papd]
ia) A apherice] balloon is bang inlased When the radius of the balloon is Soms i,

vol 1me is increating at -he rate of 103cm™/sce. Find the rate at which its surfece area

i9 tlhen inereasIng.

(b) (i} Find 1te equation of the tar.pent o the curve ¥ = E;—li a1 the poim. where the
%+

curve cuts the x exs
(11 Show thal fh: langent mees the curve again at .1 point when: (he furcnon Fas a
stalEQrary point.

(YUESTION ii: (Start & s page)

(a) Usc the substitution U = ginx to ¢valuate the integal  [eos’x dx.

(b1 When (3 - 2% F i+ expancied as a polyiomial in x, the coefficient: of x*and x"

hav: the s vaipe. Fitd the value ol n.

ic) Prove by taducaon thal cod{x 1 nal= I- I¥ coss  forinteger o &1

AYUESTION ": {Start o aew page)

{a) Ron put 5500 savimgs inoo 2 Bank lor T years, when: it earmned inberest at
A% p.a, pdd Iwive a yesr. He then changed to a Credit Un'on amd s money carmed
% p.a, paid quaterty, |T he wthdrew all his savings, and bad 563375, bow long
was the money kept in G Crecat Uniwcen?

(b} A bov throws & bt vertically and it just reaches w height of 40 metnes. ¥What is the
greisest distance hat be is eble 10 thraw it on a hon:ontal dane? (Let = 10ms* }
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